6.384

9.973

4.745

4.694

0.032

8.835

0.236

2.512

<A <
1.647 3.547 9.083
X 7 X 7 X 4
1.87 6.861 3.574
X 6 X 2 X 9
5.135 2.576 1.374
X 2 X 9 X 2
2.697 2.771 0.231
X 5 X 7 X 3
3.371 3.815 4.08
X 9 X 3 X 7
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MY B4 (3RI2 LTI )
0| &: =R =
3.562 0.184 1.647 3.547 9.083
X 4 X 7 X 7 X 7 X 4
14.248 1.288 11.529 24.829 36.332
6.384 0.032 1.87 6.861 3.574
X 9 X 5 X 6 X 2 X 9
57.456 0.16 11.22 13.722 32.166
9.973 8.835 5.135 2.576 1.374
X 3 X 2 X 2 X 9 X 2
29.919 17.67 10.27 23.184 2.748
4.745 0.236 2.697 2.771 0.231
x 4 X 5 X 5 X 7 X 3
18.98 1.18 13.485 19.397 0.693
4.694 2.512 3.371 3.815 4.08
X 2 X 2 X 9 X 3 X 7
9.388 5.024 30.339 11.445 28.56
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